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B 215 HrmR34 CEE-E
SH-F-B-g.-= Ol & o4 & 0 ot o H DS
s 21,836,255 25,250,560 | 3,423,305
SEBl 21,836,255 25,250,560 | 3,423,305
200 Al %I 42l 502,000 500,800 1,200
210 BAEAN A+ 382,000 380,800 1,200
215 40234+ 382,000 380,800 1,200
215-01 A+D234Y 382,000 380,800 1,200
OHESNS 4123 +¢ 2,000
OsFNeREZ F+DRS +¢ 380,000
230 NLHFHM - 223 120,000 120,000 0
234 DEHR 120,000 120,000 0
234-02 JIEHDHEH 2 120,000 120,000 0
oY AL JHE 120,000
500 2 X3 19,934,255 24,758,760 | 4,824,505
510 2N2E2S 15,746,934 19,189,368 |  £3,442,434
511 202 X3S 15,746,934 19,189,368 |  ~3,442,434
511-01 2 NLX3 15,626,600 19,074,502 | £3,447,902
ONFE H=2A2U2 23 X 486,120
OAEIIA WY HAZA 25 X2 52,800
OALIIH 4™ DA X @ 99,000
OBENSSHII 2Yy22lH e 75,400
OJlze#s AN X & 250,000
O=2ZRX M NI 2= N 950,000
O=2FRI ZIIHI X & 2,224,320
OOMET ZAIXS 79,000
ODIMESX ZAIXS (ZHI7E) 15,000
OOMEX Hetxe D2 100,000
OHdeRE AT 242 JegY 13,000
O£72 AYE SNAE & X2 3,383,325
O+2SHXL PLH X 2,250,000
OZO0IE M4EA 10,000
OZH0IE NBHY X & 38,000
OZHOIE &I - Hal N (F) 344,000
OZUO0IE &I - Hal K& (HF) 38,700
OO0l2l0l S&txie LPGX Mek X & 125,000
O®II0IER PYH X & 90,000
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O&IINsA #2H X& 3,801,200
OFgA 85J| a4 &x X& 102,000
O&AHINA & HAZdl X 53,000
OBAEQOIEN QMEIE XI& 107,000
OXNSI S$HAHOEN QAHMEE X 4,445
OLPG A& I XI& 34,790
OLPG st= A M X 7 XI& 788,000
OPM.NOX SAIMZEX £ K& 112,500
511-03 712 120,334 114,866 5,468
OoAddma 2RSS0 X 120,334
520 Al - EHIE X =S 4,187,321 5,569,392 A 1,382,071
521 Al - SHIEXZ=S 4,187,321 5,569,392 A 1,382,071
521-01 Al - EHIE XSS 4,187,321 5,569,392 A 1,382,071
OAEIIA e M2Z2EHX 2= X 8,800
OA&IIH AXH K& 16,500
O2ENS=HIII| 22 2eldl XA 18,000
OL=Z®X =IJIHX K& 370,720
OL2ZF/X MHE HZEX 2= X 285,000
OblUEd 44X X& 162,500
ODIMEZX 20IE5E0 &3 12,500
ODIMEX dss &X 6,000
OoAddma ?HS0 X 6,686
OaxnZ2 M YXAE &£X X 1,082,664
O2dsdIX FLH X2 530,000
O=dI0IE M At 3,000
OSdIOIE XSHg XA 11,400
OSdIOIE #EA - Ml XN (=) 103,200
OsdoIE #J - Mel N (HI==) 11,610
OO0lglol Ssetxtg PGt A& XI& 37,500
OHEII0IEX #Hl XA 20,000
O&EIIXNsSX *H XA 1,050,000
OFRA R3I| 344 &X XA 16,320
O&AHIIA Xt H2Hl X 15,900
OEAZOERM AMEIE X 32,100
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N = 0] &F AF S & AN A
A JIFUI 2
M JIEHEHG S
Sl JISHE (S L XS CEEEED
L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
JIZ 0o 30,536,032 33,309,480 N2, 773,448
= 15,626,600
Jl 120,334
= 4,187,321
Al 9,201,777
TH 1,400,000
JI&Hsg (2 15,063,660 16,493,747 N 1,430,087
= 6,568,645
& 1,901,834
Al 5,193,181
TH 1,400,000
JEds g ¥ ®#2 2,069,120 1,885,387 183,733
- 374,445
o= 285,934
Al 1,408,741
JISHe HEDIE8HSIUHES AMZRAY) 316,230 306,942 9,288
201 et 9| 202,430 193, 542 8,888
01 AP 2t 2] H| 7,880 7,662 218
OJIZ¥s 1S %7 DolE 423 729
195,000 = 43| 780
OJI&Hs s 22 H&
100 * 28,0000H4 2,800
OJI&H3s s g8 89 H&
55,000& * 200H 1,100
OMEA sMAM ST H&
00,000 * 40 A& = 320k 2,400
Ost=HeH A HHsSHAIE A3H| 800
02 2224 H| 192,750 184,080 8,670
OS24 ItA i3 F0iHl 30,0008 * 6,425 192,750
03 A2 Y| 1,800 1,800 0
OJI&HH3 s s Z2AFE 50,0008 * 183 900
OMEA SMAX I BAR
50,000& = 183 900
202 o4 | 3,400 4,500 A 1,100
01 2Ll 3,400 4,500 A 1,100
OJI&H3g 924 | 600,000 = 4™ 2,400
ONEZ AMHMAR =X0H| 1,000
203 ¥ 2 =&H| 2,000 2,000 0]
03 Al ZH =& 2 = X H| 2,000 2,000 0
OJIZEUI AESLE2F=XH| 2,000
207 A I & 78,000 78,000 0
01 g EAH| 78,000 78,000 0
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M =000
M J=Hs S
ool JlBHE (S 2 NS (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OHIEZ MM S2UHEHEAN Y & FS
29 40,000
301 LEHZ 27,900 26,400 1,500
01 A3l EE H =56l = 10,000 10,000 0
OJDEHX dI| B2Z=2 XNA0tsdH XA
5,000,000& = 23| 10,000
09 HALAHIX RS 1,400 1,400 0
O=24altAa 25 83 N2 1,400
12 JIEtE 43 16,500 15,000 1,500
OMEA sMAR AAZ(F) 16,500
-1 2,000,000& * 1Ji4& * 320 6,000
-2 1,500,000& * 14 * 320 4,500
-3 1,000,000& * 2Ji 4 * 3= Of 6,000
307 glz2+ol & 2,500 2,500 0
02 RIZFEA MM E X 2,500 2,500 0
O24altA ZF MY M X2
250,000& =« 103l 2,500
JIZHSIHS A 10,000 10,000 0
201 LBH2d| 8,000 10,000 A 2,000
03 A2 Z Hl 8,000 10,000 A 2,000
OJI=H3al S A F&HI 8,000
301 LPEXZ 2,000 0 2,000
12 JIEtE4 3 2,000 0 2,000
OJI=ds g =2ct2l #AL =&
10,000& = 100 = 23| 2,000
JIZ2HS 28 HEANd 29 363,000 355,500 7,500
201 L2l 33,900 38,200 A 4,300
02 23224l 33,900 34,000 A 100
OJI=ds E2XHga RA 2=
2,400,000& = 33| 7,200
OJI=ds HOIE& SX E=
2,400,000& = 23| 4,800
OJI=H3l HOSE &ot=E 23 21,900
—ot& | 7,000,000& = 3= 21,000
- "= 100,000 * 9& 900
207 A RO H| 5,000 0 5,000
01 289 5,000 0 5,000
OJIZ=8s E2XMEAE 29 JAMME 29 5,000
307 gl2tol & 309,100 305,300 3,800
05 BIZHRIE 3 309,100 305,300 3,800
OJIZHs E2XNEANE 29 Q2UAESF 309,100
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
401 Al& Bl & 28I 15,000 12,000 3,000
01 A& HI 15,000 12,000 3,000
OJI=Hsa HOISd FAH43 2= 15,000
S8 FHAAHNE NI ALY 500,000 0 500,000
- 250,000
Al 250,000
401 Al Bl 28I 500,000 0 500,000
= 250,000
Al 250,000
01 A& HI 499,000 0 499,000
O&g R4 JIZ=8s HAHS NBAS 499,000
= 249,500
Al 249,500
03 Al =20 HI 1,000 0 1,000
ORY PCA JI2Hs HAHUE UL
A& 20| 1,000
= 500
Al 500
MBEE AL T 2A0A X ALE 26,000 25,500 500
= 13,000
Al 13,000
201 Let24d] 6,000 5,500 500
= 3,000
Al 3,000
03 A2 S HI 6,000 5,500 500
OJIZ=XNZ0l wa 29 50,000& * 1203 6,000
- 3,000
Al 3,000
301 LBEAZ 20,000 20,000 0
= 10,000
Al 10,000
09 HALAHIX RS 2,000 2,000 0
O=sMMe A 55 X& 2,000
= 1,000
Al 1,000
12 JIEtE& = 18,000 18,000 0
O24ltA gk A48 294
20,0003 * 2% = 45004 & 18,000
= 9,000
Al 9,000
MEEEZ AL A 2401A ek ALE (XM E) 3,000 0 3,000
201 Let24d] 3,000 0 3,000
01 At 22l 3,000 0 3,000
O=24aItAa &t A48 222 ME
6002 = 5,0000H 3,000
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AN =01
g J|l=HE S
Sl DSBS (S L XS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 300,000 250,000 50,000
OZdisaANE SYEZIANAEH £X 300,000
= 90,000
Al 210,000
NS B2 12,994,540 14,608, 360 21,613,820
= 6,194,200
< 1,615,900
Al 3,784,440
T 1,400,000
HIIXNSA 25 243 28,340 33,860 25,520
201 L2l 28,340 33,860 A5,520
01 At 22l 16,700 12,020 4,680
OMIBoll Xt=sxt HAI M 6002 = 4,0000H 2,400
OsdI| 2l =2 900,000& « 12& 10,800
OXSZSI 243 2228 M
350& = 10,0008 3,500
02 =224l 11,640 21,840 A 10,200
OsdI &g 100,000& = 67| = 12& 7,200
OsdI sdz 10,000& = 27| = 12& 240
O&&EIl =Rt 50,000& = 77| = 12& 4,200
IS BESAY 7,445,200 4,867,000 2,578,200
= 3,801,200
< 1,050,000
Al 2,594,000
306 =93 68,600 0 68,600
= 53,600
< 15,000
01 &3 68,600 0 68,600
O&JIXrs X 2dl XI& 10,200,000& = 304 30,600
= 21,600
= 9,000
O&JlstEx 28l XI&  19,000,000& = 204 38,000
= 32,000
< 6,000
402 RIZ2EXt20l ™ 7,270,000 4,746,000 2,524,000
= 3,662,000
< 1,014,000
Al 2,594,000
02 RIZt X2 AL EZ (01X TS ) 7,270,000 4,746,000 2,524,000
O&IIXs A 2dl X&
13,000,000 = 194CH 2,522,000
= 1,358,000
< 582,000
Al 582,000
O&JlstEx 2&dl X&
22,000,000& = 144CH 3,168,000
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- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
= 2,304,000
& 432,000
Al 432,000
O&IHA 2AH XS 79,000,000 = 20CH 1,580,000
405 KHoHFE S HI 106,600 121,000 A 14,400
= 85,600
& 21,000
01 JHAY 2 E F S H 106,600 121,000 A 14,400
O2& &MIIAsX Fed X
10,200,000 = 3CH 30,600
= 21,600
= 9,000
O2& dJ|gt=x Fed X&
19,000,000 = 4CH 76,000
= 64,000
o= 12,000
HII0IEX B3 ALY 180,000 46,000 134,000
= 90,000
= 20,000
Al 70,000
402 SI2F 20| & 180,000 46,000 134,000
= 90,000
= 20,000
Al 70,000
02 QX2 AIS E X (0| &M THS) 180,000 46,000 134,000
O&EI|I0IEX F#H X&
1,800,000& * 100CH 180,000
= 90,000
= 20,000
Al 70,000
SAHSEXIN BESAMY (AT YY) 3,535,000 3,310,000 225,000
= 2,250,000
& 530,000
Al 755,000
402 SI2F 20| & 3,535,000 3,310,000 225,000
= 2,250,000
& 530,000
Al 755,000
02 X2 A E X (0| & THS) 3,535,000 3,310,000 225,000
Ox=A2dHS &I X P2 H X
33,100,000& * 100CH 3,310,000
= 2,250,000
= 530,000
Al 530,000
Ox=aAHA P2H XS 75,000,000& * 3CH 225,000
A HERI ESAMNE(ZEEL =) 1,700,000 0 1,700,000
Al 300,000
TH 1,400,000
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401 AlEHIZL 2 0HY| 1,700,000 0 1,700,000
Al 300,000
TH 1,400,000
01 Al&H| 1,700,000 0 1,700,000
=ASNMA 2E EX 0L 1,700,000
Al 300,000
XH 1,400,000
HHAINAXNY HASH EX 106,000 120,000 A 14,000
= 53,000
& 15,900
Al 37,100
402 SI2F X0l & 106,000 120,000 A 14,000
= 53,000
& 15,900
Al 37,100
02 QX2 A E X (0| HTHE) 106,000 120,000 A 14,000
OFHAINAXE AzHl XA 106,000
= 53,000
= 15,900
Al 37,100
Hol&etd i 13,550,044 15,769,654 N2,219,610
= 8,627,255
= 2,149,591
Al 2,773,198
HEWMI 2 5,000,128 11,282,100 N6,281,972
= 3,560,725
= 1,116,984
Al 322,419
o8& 2el 203,439 86,598 116,841
101 e1214| 96,299 0 96,299
04 JIZtHI22 NS ES 96,299 0 96,299
OR=ZE  F&EW %43 ZA AxY 60,774
-Jl23 69,760 * 120 49 33,485
-R28Ysg
69,760 * 0.7 * 40= 49 7,814
-exRa g
69,760 « 0.7 = 8JH& 49 1,563
—AHAAMZ2Z2LE 69,760% * 0.5 » 8Y 4% 1,117
— oty
8,720& * 4AI2F x 120 * 0.5 = 4Y 8,372
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— ot g
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40 B8 3 31,734,000& * 11% 3,491
OAFHZTANE E2H2ZHAH 50,0008  6H 300
201 Let249] 23,740 52,080 A 28,340
01 At 22/l 15,100 47,760 A 32,660
OAF AZUHF ¥ 2 300,000& » 6¥+A 1,800
OANZMHI S FHl==4&Hl 250,000& = 43| 1,000
OAHISAMNEMHHELH & 225 7€ 10,800
-S23d 100,000 = 8CH » 12& 9,600
- Xt 100,000& = 1CH » 123 1,200
OUIIRYER S =8 442
150,000& * 100H £ 1,500
02 3323l 8,640 4,320 4,320
OAFZIULHE ANAE Az & RASHE 7,680
= 80,000& = 8CH » 12& 7,680
O%AF2L T8 BUE SUB(2Z, WY)
40,0003 * 200 = 12& 960
202 O4dl 2,400 4,200 A 1,800
01 = LHA YI 2,400 4,200 21,800
OUIIEH B2RF&A ol 600,000& » 4H 2,400
207 A RO H| 80,000 0 80,000
01 289 80,000 0 80,000
AF ARG (RS - Fot) dFAEHEASY 80,000
301 LENF 1,000 318 682
12JIE243 1,000 0 1,000
Otisga EgsHs it
40,000¥ * 5% = 53| 1,000
=SASSEI|D| 2Z 22l & 111,400 373,800 A 262,400
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< 18,000
Al 18,000
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< 18,000
Al 18,000
02 ItFAAHE X 111,400 0 111,400
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Al 2,450,779
OIMSX e 63,740 78,751 A 15,011
201 ¢er24] 59,740 74,251 A 14,511
01 At 2t 2l 38,380 46,500 A 8,120
ODIMYX the 22 s+=2 M
55,000& = 400H 2,200
O2d X SEHHl =44 300,000& * 63l 1,800
O28I a8 2285 22
300,000& = 33l 900
O2dX SETH BEHA =8
200,000& *» 63 1,200
OHANE AUBIIE 22 &7
80,000& * 2000H & 16,000
OODIMY X 2t0I58D Atz
90,000 = 11CH = 12& 11,880
oOzdMet 2Hte dNNX =2
200& = 22,000A 4,400
02 2324l 14,360 , 751 26,391
OOIMZR dss RHdSEE
10,0003 = 8CH = 12& 960
OCCTV &J1g ¥ fdsSda
70,000& = 10CH » 12& 8,400
OOIME X d5s S E=Hl
5,000,000& = 14 5,000
03 & At2 Gl 7,000 7,000 0
OOIMEX thE #AF =& 7,000,0008 * 14 7,000
202 Odl 3,000 3,500 A 500
01 = LH 4 Hi 3,000 3,500 A 500
O0IMZRNES BRF=E bl
600,000& = 5H 3,000
301 LA F 1,000 ,000 0
09 SALEHIX A S 1,000 ,000 0
OO0IMZX s eAss NS 1,000
N2 N=AE9d E=AE 810,200 ,000 774,200
= 486,120
Al 324,080
402 RI2FX=201 M 810,200 ,000 774,200
= 486,120
Al 324,080
02 QI EAILSEZ (01X S) 810,200 ,000 774,200
OB E M=sABLY B3(LEIHy) 449,600
= 269,760
Al 179,840
ON¥E M=ABLH B (MASSE) 360,600
= 216,360
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| Al 144,240
OMSX 2H01E &I XA 25,000 0 25,000
& 12,500
Al 12,500
401 Al HIZ 201 Y| 25,000 0 25,000
= 12,500
Al 12,500
01 Al&H| 25,000 0 25,000
OO0IMIE X 2t0IsA D Al
2,500,000& = 10CH 25,000
= 12,500
Al 12,500
OIMSHA ZAIX& 158,000 88,000 70,000
= 79,000
Al 79,000
101 124 4| 120,400 66,400 54,000
= 60,200
Al 60,200
0422 2NEE~ 120,400 66,400 54,000
OO0IMIHX ZAIS o122 15400,000& = 7H 107,800
= 53,900
Al 53,900
OD0IHSHX 2ZAIE 401282
200,000€ = 7% » 8& 11,200
= 5,600
Al 5,600
OO0IMSHX 2ZAIS IOI2Y| 200,000& = 7H4 1,400
= 700
Al 700
201 et d| 37,600 21,600 16,000
= 18,800
Al 18,800
01 AP 2t 2| bl 34,800 18,594 16,206

OOBIMIHX 2 AIS W= I

400,000& » 74 2,800
= 1,400
Al 1,400

OOBIMSR ZAIE ZAIXE Xt
2,000,000& = 20 » 8 32,000
= 16,000
Al 16,000

02 3324gHl 2,800 3,006 A 206
O&IIX BHEEZ 75,000% = 200 ~ 8& 1,200
= 600
Al 600
OO0IMEZHA ZAY Se=

50,000% = 400 ~ 8 & 1,600
= 800
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